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Statement of Ore Account, 14th December, 1850.

Quantity of Ore estimated to be raised and undressed 
August last, 3,486 tons, yielding a produce of 20
equal to of 15 per cent,.....................................

Add—Supposed to have been since raised......................
“ Quantity of dressed Ore then on the Floors,.........

Less shipped per “ Minesota,”...............................

at 12 th 
per cent.,
........ tons, 4,648

100
281
243

88

Tons, 4,786

4,186 Tons of 21 cwt. of Ore of 15 per cent, produce equal to
718 tons of 20 cwt. fine Copper, at £98 per ton........

Deduct— £70,364 0 u

Cost of cleaning 4,786 
tons of Ore at 20s. per
ton,»............................

Less already cleaned,..
0 0
0 0 *

£3,913 0 0
Smelting 4,786 tons at £3

10s. per ton,...............
Less already sent to the 

Smelting House, 753 
tons........................... ..

16,751 0 0

3,012 0 0
13,739 0 0

•£17,652 0 0

52,712 0- 0 
2,515 0 0Ore on Board Schooner “ Minesota,” 243 tons,

£55,227 0 0Value of Ore per last Statement........
Less an over-estimate of Id. per lb.,

£69,435 7 10 
7,908 5 0

£51,527 2 10
liaised in 1860,704 tons at £10

per ton £ 7,040 0 0 
Less Cash for Copper sold,.. 5,316 7 6

1,723 12 6
53,250 15 4

Difference, £1,976 4 8
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